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Supplementary information

B3LYP/6-31+G* + PCM( = 78.4): 
Cartesian coordinates (Ångström) for optimised geometries

Species 1 (X=Cl): total energy =  -727.14521 hartree
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Species 1 (X=Br): total energy =  -2838.68119 hartree
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Species 2 (X=Cl): total energy =  -726.70247 hartree

17
-0.210731
0.676122
-1.530367

  6
0.331523
0.600641
0.380866

  6
1.396451
0.403523
-0.590554

  6
-0.331236
-0.608239
1.096052

  8
-1.307944
-0.296331
1.809317

  8
0.213554
-1.712767
0.877751

  1
0.144724
1.605818
0.796815

  1
2.081769
1.217138
-0.829147

  1
1.730627
-0.619796
-0.766163

Species 2 (X= Br ): total energy = -2838.23962 hartree
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Species 3 (X=Cl): total energy =  -726.72948 hartree
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Species 3 (X=Br): total energy =  -2838.27189 hartree
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Species 4 (X=Cl): total energy =  -538.56843 hartree
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Species 4 (X = Br): total energy = -2650.09523 hartree
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Species 5: total energy = -227.83023 hartree
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Species 6 (X = Cl): total energy = -726.70072 hartree
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Species 6 (X = Br): total energy = -2838.22984 hartree
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Species 7 (X = Cl): total energy = -538.51176 hartree
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Species 7 (X = Br ): total energy =  -2650.02359 hartree
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Species 8: total energy =  -227.75445 hartree
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